# Forestry Commission Scotland

## Sale of Timber

Tender of Standing Timber and Logs

To be opened at FE Scotland, Head Office On 15 April 2015 at 12.00 hours

Sawlogs at Roadside	33400 m3ub
And	13945 Tonnes
Standing Timber	141747 m3OBS

Please note this catalogue is for information only and bids received using the tender form attached will be excluded from the sale.

All bids for this sale must be submitted through the E-sales system.

For information on registering as an E-sales user please contact Derek Douglas at 01698 222447

#### **General Conditions of Sale**

- All timber on offer in this sale is covered by Chain of Custody Certificate No SGS-FM/CoC-010301 FSC 100%. This certificate was issued on 12 November 2014 under the QUALIFOR Programme by SGS Forestry.
- 2. The sale of each Lot is subject to the Standard Contract, specimens of which may be obtained from the Chief Executive, Forest Enterprise Scotland, 1 Highlander Way, Inverness Business Park, Inverness IV2 7GB (Telephone: 01463 232811). These agreements describe the normal terms of trading; application of these terms, which is at the sole discretion of the Forest Enterprise is subject to the establishment of satisfactory credit worthiness.
- 3. The description of the trees in the Sale Catalogue is believed to be accurate but is not guaranteed except as to the number of trees in tariffed Standing Timber Agreements offered for a lump sum. In all other respects the Purchaser is held as satisfying himself as to the description of the Sale Lots.
- 4. Arrangements to inspect the timber should be made direct with the Forest District staff listed. An address list is on the last page of this catalogue. Site boundaries will be clearly marked in a common manner. External boundary trees will be marked with white tape or marking, i.e. the trees to be left standing after harvesting operation. Purchasers will be deemed to have acquainted themselves with arrangements for access and constraints, if any, in respect of each Lot, details of which are also available from the Forest District.
- 5. Prospective purchasers are advised to consult a copy of the map of timber haulage (preferred) routes on public roads before bidding for the lots where these apply. Copies of all the maps together with a statement of preferred routes are held by the Forest District Managers and also all local authority Divisional road Surveyors within the Region.
- 6. The commencement and completion dates for all agreements are as indicated against each Lot in the catalogue.
- 7. No Lot carries entitlement to continuity of supplies of timber outside the terms and conditions of the Agreement.
- 8. All bids/offers shall be exclusive of Value Added Tax, which shall be added to the purchaser price of each Lot at the appropriate rate.

#### Particulars of Sale

#### **Standing Timber**

- 1. Lots are either offered for lump sum bids or bids per tonne as clearly described on the top of each page in this catalogue.
- 2. Lots offered for lump sum bids All volume estimates have been derived from a full Tariff unless otherwise stated. Tariff sheets may be inspected by appointment at the relevant Forest District Office. Volumes quoted for such sales in this catalogue are estimates of the volume of the standing trees only. The prospective purchaser shall therefore be deemed to have formed his own estimate of volume and nothing herein or in the said record shall be taken as a representation including a contract or as a condition or warranty forming part of the contract if and where made.
- 3. Purchasers will be deemed to have satisfied themselves as to the occurrence of butt rot and stain and no subsequent allowance or reduction will be made.
- 4. Prospective purchasers are advised to obtain a copy of the Harvesting Site Plan from relevant Forest District Managers for each standing sale. These plans detail specific operational requirements for each sale parcel.
- 5. Purchasers will be deemed to be acquainted with the provisions of the Forestry Commission's Forests and Water Guidelines publication and to ensure that they are accorded with in their harvesting operations.

#### Logs at Roadside

- 6. Presentation of sawlogs for sale will be in accordance with the Forestry Commission's Field Book No.9 "Classification and Presentation of Softwood Sawlogs", a copy of which can be obtained on request from the Chief Executive, Forest Enterprise, Scotland, 1 Highlander Way, Inverness Business Park, Inverness IV2 7GB
- 7. Lots are either offered for a price per cubic metre underbark or for a price per tonne as clearly described on the top of each page in this catalogue.
- 8. Where lots are offered for a price per cubic metre underbark the volume of the timber will be calculated from the weight of loads supplied, converted to volume using volume/weight fixed conversion factors where such agreements currently exist between Forestry Commission Scotland and relevant parties. Successful purchasers that do not have an agreement for

fixed conversion factors with Forestry Commission Scotland shall be given the opportunity to adopt the relevant fixed conversion factor(s) based on the national data set within the relevant supplying location. Failing such an agreement being reached, conversion factors shall be calculated from measurements of the volume of 1:10 sample loads. The volume of the sample loads will be obtained by the methods described in Field Book 9.

9. The average DBH of the standing trees from which the logs will be produced is an estimate only, provided for the guidance of prospective purchasers - it is not guaranteed.

# **Species Codes and Abbreviations**

SP	Scots Pine
LP	Lodgepole Pine
СР	Corsican Pine
MP	Mixed Pine
EL	European Larch
ESF	Silver Fir
HL	Hybrid Larch
JL	Japanese Larch
ML	Mixed Larch
NS	Norway Spruce
SS	Sitka Spruce
MS	Mixed Spruce
DF	Douglas fir
GF	Grand fir
NF	Noble fir
WH	Western Hemlock
OMS	Serbian Spruce
MOP	Mountain Pine
LC	Lawson's Cypress
RC	Western Red Cedar
MC	Mixed Conifer
MB	Mixed Broadleaves
BE	Beech
RON	Nothofagus Obliqua
cm	Centimetres
m <sup>3</sup>	Cubic Metres
m	Metres
TD	Top Diameter
UB	Underbark
ОВ	Overbark
DBH	Diameter at Breast Height
На	Hectares

### FOREST ENTERPRISE, SCOTLAND - STAFF LIST

Forest Enterprise Scotland

Head Office

1 Highlander Way Inverness Business Park Inverness IV2 7GB Tel No: 01463 232811 Simon Hodge

Chief Executive

Les Bryson

Head of Operations

0300 067 6034 (direct line)

Forest Enterprise South Scotland

Management Office

55/57 Moffat Road Dumfries DG1 1NP Tel No: 01387 272440 Mike Green

Harvesting & Marketing Officer

01387 272440

Derek Douglas -

Operations Business Manager 01698 222447 (direct line)

#### AREA OPERATIONS REGIONS

**Highland Region** 

Inverness Forest District Office Smithton, Inverness, IV1 2NL Tel No: 01463 791575

Forest Districts within Region
North Highland Forest District

Inverness Ross & Skye Forest District

Julian Fryer Chris Bradley Area Operations Manager, HighlandAssistant AOM, Highland & Grampian

**Grampian Region** 

Ordiquhill, Portsoy Road, Huntly AB54 4SJ

Tel No: 01466 – 794161 Forest Districts within Region

Moray & Aberdeenshire Forest District

Alastair Young Chris Bradley - Area Operations Manager, Grampian

- Assistant AOM, Highland & Grampian

**Central Region** 

Cowal & Trossachs Forest District Office

Aberfoyle, Stirling FK8 3UX

Tel No: 01877 – 382383 Forest Districts within Region

Cowal & Trossachs Forest District

Tay Forest District

Scottish Lowlands Forest District

Nick Wilby Shirley Leek - Area Operations Manager, Central

- Assistant AOM, Central

**Argyll & Lochaber Region** 

West Argyll Forest District Office

Whitegates, Lochgilphead, PA31 8RS

Tel No: 01546 – 602518 Forest Districts within Region

West Argyll Forest District

Lochaber Forest District

Neil Proctor Andy Hunt - Area Operations Manager, Argyll &Lochaber

- Assistant AOM, Argyll & Lochaber

**South Scotland Region** 

Galloway Forest District Office

Creebridge, Newton Stewart, DG8 6AJ

Tel No: 01671 – 402420 Forest Districts within Region

Galloway Forest District

**Dumfries & Borders Forest District** 

Neil Murray - Area Operations Manager, South Scotland

Colin Binnie - Assistant AOM, South Scotland (Dumfries & Borders)

Jim Lauder - Assistant AOM, South Scotland (Galloway)

ОТ О	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
)1	WEST ARGYLL	Clearfell							20/04/15	£
	Creran New Road	5% windthrow	SS	8901	28024	0.318	21	B6	to 31/10/15	
			LP	1296	3733	0.347	23	B6		
	F27259		SS	16	70	0.229	19	B6		Per tonne
	1 21200			10213	31827	0.321			Estimated weigh	at 8280 tonnes
	This site will not require Urea of this contract.	application. There is a road	line of approx	imately 1200m t	o fell as part					
)2		application. There is a road  Clearfell	line of approx	imately 1200m t	o fell as part				20/04/15	£
2	of this contract.	Clearfell					26	B6	to	£
2	of this contract.		line of approx	14932 2344	o fell as part 22972 3552	0.650 0.660	26 26	B6 B6		£
2	of this contract.  WEST ARGYLL  Succoth Brackley	Clearfell	SS	14932	22972	0.650			to	
2	of this contract.	Clearfell	SS JL	14932 2344	22972 3552	0.650 0.660	26	B6	to	£ Per tonne
)2	of this contract.  WEST ARGYLL  Succoth Brackley	Clearfell	SS JL SP	14932 2344 369 170	22972 3552 820 486	0.650 0.660 0.450 0.350	26 26	B6 B6	to	Per tonne
<u></u> 12	of this contract.  WEST ARGYLL  Succoth Brackley	Clearfell 5% windthrow	SS JL SP	14932 2344 369	22972 3552 820	0.650 0.660 0.450	26 26	B6 B6	to 31/01/16	Per tonne

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.03	TAY	Thinning							01/05/15	£
	Lassintullich	2% windthrow	NS	956	1951	0.490	23	B6	to 31/10/15	
			DF	69	62	1.113	33	NA		
	F28843			1025	2013	0.509				Per tonne
									Estimated weigh	t 849 tonnes
1.04	percentage of deer damage.  TAY	Clearfell							20/04/15	£
	Dalrulzion 43055	6% windthrow	SS	12660	17478	0.724	28	B6	to 01/02/16	
	Dalitizion 43033	076 WINGUITOW	SP	1716	5507	0.724	22	B6	01/02/10	
			HL	553	962	0.575	27	B6		Day tanna
	F28909		SS	468	1320	0.355	21	B6		Per tonne
			SP	445	1182	0.376	24	B6	Estimated weigh	t 13425 tonnes
			LP	386	1346	0.287	20	B6		
			OMS	197	1372	0.144	16	B6		
				16425	29167	0.563				

This site will require Urea application.

All bids must be made via the Forestry Commission's online e-sales system ( www.esales.eforestry.gov.uk ) as detailed in the general conditions of sale at the front of this catalogue. In the event that the Forestry Commission's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.05	MORAY, ABERDEENSHIRE	Thinning							01/05/15 to	£
	Curach Well		SS	3265	31831	0.103	15	B6	31/12/15	
			SS	3240	22162	0.146	17	B6		
			SS	1110	3876	0.286	21	B6		Per tonne
	F28743		HL	383	2117	0.181	18	B6		i or tornio
			JL	236	1484	0.159	17	B6	Estimated weigh	nt 6736 tonnes
			LP	82	967	0.085	14	B6		
			SP	68	149	0.456	29	B6		
			SS	11	43	0.256	20	B6		
				8395	62629	0.134				

This site will require Urea application. First thin, rack and selective light thin of matrix.

All bids must be made via the Forestry Commission's online e-sales system ( www.esales.eforestry.gov.uk ) as detailed in the general conditions of sale at the front of this catalogue. In the event that the Forestry Commission's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFEREI (EXCLUDING VAT)
.06	NORTH HIGHLAND	Clearfell							25/05/15	£
	Golticlay	80% windthrow	LP	4722	37520	0.126	17	B6	to 31/03/16	
			LP	3659	32446	0.113	16	B6		
			LP	839	4032	0.208	19	B6		Per tonne
	F28875		SS	774	1683	0.460	25	B6		1 01 1011110
			SS	252	452	0.558	27	B6	Estimated weight	t 8747 tonnes
			LP	150	1122	0.134	18	B6		
			JL	62	223	0.278	23	B6		
	This site will not require Urea app	olication. See Site Specifi	c Conditions	10458 and contact Con	77478	0.135 er				
	This site will not require Urea app prior to viewing / bidding.		c Conditions							
07		olication. See Site Specifi Clearfell	c Conditions						01/05/15 to	£
07	prior to viewing / bidding.		c Conditions				18	B6	01/05/15 to 31/03/16	£
07	prior to viewing / bidding.  INVERNESS,ROSS, SKYE			and contact Con	itract Manag	er	18 17	B6 B6	to	£
07	prior to viewing / bidding.  INVERNESS,ROSS, SKYE		LP	and contact Con	atract Manag	er 0.180			to	£ Per tonne

This site will not require Urea application.

All bids must be made via the Forestry Commission's online e-sales system ( www.esales.eforestry.gov.uk ) as detailed in the general conditions of sale at the front of this catalogue. In the event that the Forestry Commission's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.08	INVERNESS,ROSS, SKYE	Clearfell							04/05/15	£
	The Stepping Stones	10% windthrow	SS	7069	9956	0.710	27	B6	to 31/03/16	
			LP	6180	24720	0.250	20	B6		
			SP	1015	3274	0.310	23	B6		Per tonne
	F29033		SS	490	422	1.161	35	B6		
			NS	266	700	0.380	22	B6	Estimated weight 1	2425 tonnes
				15020	39072	0.384				
1.09	This site will require Urea applicati	ion.  Clearfell							04/05/15	£
			00	45040	47450	0.044	00	D.C.	to	~
	Linne Mhor Cottage	20% windthrow	SS	15948	17450	0.914	30	B6	31/03/16	
			HL SS	5373	11899	0.452	24 19	B6		
	F28751		SS LP	911	4716 4450	0.193	22	B6 B6		Per tonne
			LP	453	1450	0.312	22	D0	Estimated weight 1	7027 toppos
				22685	35515	0.639			Estimated weight i	7927 tornes
	This site will require Urea applicati	ion.								

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.10	SCOTTISH LOWLANDS	Thinning							01/06/15	£
	West Forth	10% windthrow	SS	600	7150	0.084	15	B6	to 31/08/15	
			JL	340	3280	0.104	17	B6		
	F26637			940	10430	0.090				Per tonne
									Estimated weight	t 733 tonnes
1.11	pipe, MOP dog walkers, public ro	Clearfell							01/06/15	£
1.11									to	L
	Twechar Antonine Wall	15% windthrow	HL	1106	1746	0.633	27	B6	30/10/15	
			CP	95	223	0.426	24	B6		
	F27490		SP	30	105	0.286	21	B6		Per tonne
	1 21 430		LP	12	52	0.231	18	B6		
				1243	2126	0.585			Estimated weight	t 934 tonnes
	Urea application required. Antor pipeline along forest road.	nine wall SAM, core path,	both wall and	l military way. O	HPL & GAS					

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.12	SCOTTISH LOWLANDS	Clearfell							01/05/15 to	£
	Limerigg 12, 18 & 19	20% windthrow	LP	2366	9769	0.242	20	B6	31/10/15	
			SS	1002	4153	0.241	20	B6		
			LP	864	5360	0.161	17	B6		Per tonne
	F28780		SS	122	133	0.917	34	B6		. 6. 166
			CP	55	99	0.558	30	B6	Estimated weight	3720 tonnes
			SS	41	210	0.195	17	B6		
			CP	20	100	0.200	20	B6		
				4470	19824	0.225				

This site will not require Urea application.

All bids must be made via the Forestry Commission's online e-sales system ( www.esales.eforestry.gov.uk ) as detailed in the general conditions of sale at the front of this catalogue. In the event that the Forestry Commission's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.13	GALLOWAY	Clearfell							20/04/15	£
	Glenwhan	28% windthrow	SS	4652	7571	0.614	25	B6/1	to 31/03/16	
			JL	2543	4874	0.522	25	B6/1		
			LP	379	1133	0.335	25	B6/1		Per tonne
	F28904		NF	181	227	0.797	25	B6/1		i di tollilo
				7755	13805	0.562			Estimated weigh	t 6088 tonnes
	This site will require Urea appl	ication.								
I.14	GALLOWAY	Thinning							20/04/15	£
	Carrick	5% windthrow	SS	4910	49100	0.100	14	B6/1	to 31/05/16	
			JL	1528	18640	0.082	14	B6/1		
				6438	67740	0.095				Per tonne
	F28905									
	F28905								Estimated weigh	t 5084 tonnes

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.15	GALLOWAY	Clearfell							20/04/15	£
	Changue	5% windthrow	SS	8320	26438	0.315	22	B6/1	to 31/03/16	
				8320	26438	0.315				
	F28922									Per tonne
	This site will require Urea application.								Estimated weight 671	10 tonnes
1.16	DUMFRIES AND BORDERS	Thinning							01/05/15 to	£
	Blinkbonny		SS	1583	10550	0.150	17	B6	30/11/15	
				1583	10550	0.150				
	F28912									Per tonne
	This site will require Urea application.								Estimated weight 127	77 tonnes
1.17	DUMFRIES AND BORDERS	Thinning							01/05/15	£
	Clessley/Falside		SS	1100	4583	0.240	21	B6	to 30/11/15	
				1100	4583	0.240				
	F28913									Per tonne
	This site will require Urea application.								Estimated weight 887	7 tonnes

All bids must be made via the Forestry Commission's online e-sales system ( www.esales.eforestry.gov.uk ) as detailed in the general conditions of sale at the front of this catalogue. In the event that the Forestry Commission's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.
Tenders correctly submitted for Lots in this sale will be 'opened' at 12:00 hours on 15 April 2015 unless otherwise notified as set out above.

		1	LOG DESCRIP	TION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.01	TAY	16 cm	1500 M3UB Roadside	3.7 - 6.2 m 30	01/06/15 to 30/11/15	£
	Errochty Bohally	SP/DF/MS	Green Logs			Per m3UB
	F28841	7/53/40		Column 3 indicates the spec	cies percentage split.	
2.02	TAY	16 cm	1000 M3UB Roadside	3.1 - 4.9 m 30	01/05/15 to 01/10/15	£
	Craigvinean	SS	Green Logs			Per m3UB
	F28924			Part of this parcel may be av	vailable at time of sale.	
2.03	MORAY, ABERDEENSHIRE	16 cm	2500 M3UB Roadside	3.6 - 6.2 m 34	17/04/15 to 30/09/15	£
	Bonnieview	SS	Green Logs			Per m3UB
	F28988					
	I	ļ	1	I		l

	1	1	LOG DES	CRIPTION				
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POIN OF SALE AND CLASSIFICATION	LENGTH	STAND MEAN DBH (CM)	COMPLE	CEMENT AND ETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.04	MORAY, ABERDEENSHIRE	16 cm	550 M3UB Roadsi	de 3.0 - 4.8 m	23	20/04/15	to 31/08/15	£
	Mulderie	SP/MS/ML	Green Logs					Per m3UB
	F29009	55/18/27		Column 3 indic	ates the spec	cies percenta	ge split.	
2.05	INVERNESS,ROSS, SKYE	16 cm	950 M3UB Roadsi	de 3.1 - 4.9 m	30	27/04/15	to 30/11/15	£
	Polmaily	SP/NS/DF	Green Logs					Per m3UB
	F29038	47/21/32		Column 3 indic	ates the spec	cies percenta	ge split.	
2.06	GALLOWAY	16 cm	1200 M3UB Roadsi	de 3.7 - 4.9 m	27	20/04/15	to 28/08/15	£
	Bennan	SS	Green Logs					Per m3UB
	F28890							
	1	1	I	I				1

**FC Scotland** 

All bids must be made via the Forestry Commission's online e-sales system ( www.esales.eforestry.gov.uk ) as detailed in the general conditions of sale at the front of this catalogue. In the event that the Forestry Commission's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

			LOG DESCRIP	ΓΙΟΝ		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND MEAN SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.07	DUMFRIES AND BORDERS	16 cm	500 M3UB Roadside	3.7 - 4.9 m 24	16/04/15 to 31/08/15	£
	M74 Blacklaw F28868	SS	Green Logs			Per m3UB
2.08	DUMFRIES AND BORDERS  Cademuir F28878	16 cm SS	500 M3UB Roadside  Green Logs	3.1 - 4.9 m 30	01/05/15 to 31/07/15	£ Per m3UB
2.09	WEST ARGYLL  A Bheinn 2 - Salachary F28994	16 cm MS	1650 M3UB Roadside Red Logs(80%Green)	3.1 - 5.0 m 24  This is a Green log parcel w	28/04/15 to 30/09/15 ith a 20% Red log element.	£ Per m3UB

			LOG DESCRIPT	ION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.10	WEST ARGYLL	16 cm	1000 M3UB Roadside	3.1 - 4.9 m 17	20/04/15 to 30/11/15	£
	Laganruere - Knapdale	ss	Red Logs(80%Green)			Per m3UB
	F29003			This is a Green log parcel wi	th a 20% Red log element.	
2.11	WEST ARGYLL	16 cm	2100 M3UB Roadside	3.1 - 4.2 m 22	20/04/15 to 30/11/15	£
	Strath Nan 1 - Skipness	ss	Red Logs(80%Green)			Per m3UB
	F29005			This is a Green log parcel wi	th a 20% Red log element.	
2.12	WEST ARGYLL	16 cm	2100 M3UB Roadside	3.6 - 4.8 m 22	20/04/15 to 30/11/15	£
	Strath Nan 2 - Skipness	SS	Red Logs(80%Green)			Per m3UB
	F29006			This is a Green log parcel wi	th a 20% Red log element.	
	1	l	I	I		ı

	1		LOG DESCRIPTI	ON		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND MEAN SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.13	WEST ARGYLL	16 cm	400 M3UB Roadside	3.6 - 3.6 m 20	20/04/15 to 31/05/15	£
	Succoth Corner-Dalmally	JL	Red Logs(80%Green)			Per m3UB
	F29014			This is a Green log parcel w	ith a 20% Red log element.	
2.14	TAY	16 cm	1000 M3UB Roadside	3.0 - 4.9 m 26	01/05/15 to 01/10/15	£
	Laggan	NS	Red Logs(60%Green)			Per m3UB
	F28915			This is a Green log parcel w & drag access only.	ith a 40% Red Log element. Lorry	
2.15	TAY	16 cm	650 M3UB Roadside	3.1 - 6.2 m 34	01/05/15 to 01/12/15	£
	Laggan	HL/NF	Red Logs(40%Green)			Per m3UB
	F28932	38/62		This is a Red Log parcel with Column 3 indicates the spec		

**FC Scotland** 

All bids must be made via the Forestry Commission's online e-sales system ( www.esales.eforestry.gov.uk ) as detailed in the general conditions of sale at the front of this catalogue. In the event that the Forestry Commission's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

			LOG DESCRIPTION	ON		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED BH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.16	COWAL AND TROSSACHS	16 cm	1200 M3UB Roadside	3.7 - 4.9 m 30	01/06/15 to 30/09/15	£
	Orange Hill	SS	Red Logs(75%Green)			Per m3UB
	F28650			This is Green Log parcel with	h 25% Red log element.	
2.17	COWAL AND TROSSACHS	16 cm	200 M3UB Roadside	3.7 - 4.9 m 22	15/05/15 to 31/08/15	£
	Ben Aan	HL	Red Logs(30%Green)			Per m3UB
	F28665			This is a Red log parcel with	a 30% Green log element.	
2.18	GALLOWAY	16 cm	1000 M3UB Roadside	3.7 - 4.9 m 22	20/04/15 to 28/08/15	£
	Bennan	SS	Red Logs(60%Green)			Per m3UB
	F28888			This is a Green log parcel wi	ith a 40% Red log element.	
	I	l	I	I		1

			LOG DESCRIP	TION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.19	GALLOWAY	16 cm	1000 M3UB Roadside	3.7 - 4.9 m 27	20/04/15 to 28/08/15	£
	Fleet Basin	SS	Red Logs(70%Green)			Per m3UB
	F28889			This is a Green log parcel wi	th a 30% Red log element.	
2.20	GALLOWAY	16 cm	2000 M3UB Roadside	3.7 - 4.9 m 22	20/04/15 to 28/08/15	£
	Gala Lane	SS	Red Logs(60%Green)			Per m3UB
	F28891			This is a Green log parcel wi	th a 40% Red log element.	
2.21	DUMFRIES AND BORDERS	16 cm	1000 M3UB Roadside	3.7 - 4.9 m 24	16/04/15 to 31/08/15	£
	Merecleugh Hill, Craigieburn	SS	Red Logs(50%Green)			Per m3UB
	F28867			This is a Green log parcel wi	th a 50% Red log element.	
	I	I		I		1

			LOG DESCRIPT	ION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED MEAN DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.22	DUMFRIES AND BORDERS	16 cm	1000 M3UB Roadside	3.7 - 4.9 m 24	16/04/15 to 31/08/15	£
	M74, Blacklaw	SS	Red Logs(70%Green)			Per m3UB
	F28869			This is a Green log parcel w	ith a 30% Red log element.	
2.23	DUMFRIES AND BORDERS	16 cm	1500 M3UB Roadside	3.1 - 4.9 m 24	01/05/15 to 30/11/15	£
	Carlin Tooth - Lethem	SS	Red Logs(70%Green)			Per m3UB
	F28879			This is a Green log parcel w	ith a 30% Red log element.	
2.24	MORAY, ABERDEENSHIRE	16 cm	500 M3UB Roadside	3.1 - 3.7 m 20	25/05/15 to 31/10/15	£
	Suie Hill	SS	Red Logs			Per m3UB
	F28921					
	I	I	I	I		1

			LOG DESC	RIPTION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.25	MORAY, ABERDEENSHIRE	16 cm	500 M3UB Roadside	3.6 - 3.6 m 16	20/04/15 to 31/08/15	£
	Elchies	LP	Red Logs			Per m3UB
	F29012					
2.26	INVERNESS,ROSS, SKYE	16 cm	300 M3UB Roadside	3.1 - 3.7 m 30	27/04/15 to 30/11/15	£
	Polmaily	SP/NS/DF	Red Logs			Per m3UB
	F29039	50/17/33		Column 3 indicates the spec	cies percentage split.	
2.27	WEST ARGYLL	28 cm	450 M3UB Roadside	4.8 - 4.9 m 40	20/04/15 to 31/05/15	£
	Barr Dubh - Succoth Oversize Log	SS	Other Logs			Per m3UB
	F28998			This site comprises approxi	mately 80% Green logs.	
	I .	I	I	I		ı

	1	1	LOG DESCRIPT	ION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.28	WEST ARGYLL	24 cm	200 M3UB Roadside	3.7 - 4.9 m 40	28/04/15 to 30/09/15	£
	A Bheinn 1 - Salachary Oversize Logs F29000	MS	Other Logs	This site comprises approxin	nately 80% Green logs.	Per m3UB
2.29	TAY	28 cm	500 M3UB Roadside	3.0 - 6.2 m 35	01/05/15 to 01/10/15	£
	Craigvinean Oversize 2	SS	Other Logs			Per m3UB
	F28918			This site comprises approxin parcel may be available at ro	nately 80% Green logs. Part of this padside.	
2.30	COWAL AND TROSSACHS	25 cm	800 M3UB Roadside	3.7 - 6.2 m 32	01/06/15 to 30/10/15	£
	Orange Hill	SS	Other Logs			Per m3UB
	F28651			This site comprises approxing	nately 70% Green logs.	

			LOG DESCRIPTION	ON		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED MEAN DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.31	SCOTTISH LOWLANDS	30 cm	300 Tonnes Roadside	5.2 - 5.2 m 35	16/04/15 to 31/08/15	£
	Garshelloch	SS	Other Logs			Per tonne
	F28857			This site comprises approxim	nately 50% Green logs.	
2.32	GALLOWAY	30 cm	400 Tonnes Roadside	4.9 - 5.0 m 28	28/04/15 to 28/08/15	£
	Lamachan	JL	Other Logs			Per tonne
	F28880			Phytophthora Ramorum. Ap comprises Green logs.	proximately 60% of this lot	
2.33	GALLOWAY	30 cm	120 Tonnes Roadside	4.9 - 5.0 m 28	20/04/15 to 28/08/15	£
	Penninghame	SS	Other Logs			Per tonne
	F28881			Approx. 50% of this lot comp	rises Green logs.	

to 28/08/15	AMOUNT OFFERED (EXCLUDING VAT)
to 28/08/15	f
	~
	Per tonne
en logs.	
to 28/08/15	£
	Per tonne
en logs.	
to 28/08/15	£
	Per tonne
en logs.	
5	een logs.

			LOG DESCRIP	TION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.37	GALLOWAY	30 cm	500 Tonnes Roadside	4.9 - 5.0 m 25	20/04/15 to 28/08/15	£
	Fleet Basin	SS	Other Logs			Per tonne
	F28885			Approx. 70% of this lot comp	orises Green logs.	
2.38	GALLOWAY	30 cm	350 Tonnes Roadside	4.9 - 5.0 m 22	20/04/15 to 28/08/15	£
	Penninghame	SS	Other Logs			Per tonne
	F28892			Approx. 80% of this lot comp	orises Green logs.	
2.39	SCOTTISH LOWLANDS	30 cm	800 Tonnes Roadside	3.0 - 3.0 m 30	16/04/15 to 30/09/15	£
	Cairnoch	SS	Other, General			Per tonne
	F28859			3 metre oversized SS at Cair 209.Approximately 100% of		

		1	LOG DESCRIPT	TION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND MEAN SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.40	MORAY, ABERDEENSHIRE	14 cm	800 M3UB Roadside	2.5 - 3.1 m 22	25/05/15 to 31/10/15	£
	Suie Hill F28923	ss	Pallet			Per m3UB
2.41	MORAY, ABERDEENSHIRE Leybrae F28926	14 cm SS	250 M3UB Roadside Pallet	2.5 - 3.1 m 31	27/04/15 to 31/07/15	£ Per m3UB
2.42	MORAY, ABERDEENSHIRE Hill Of 3 Stones F28927	14 cm SS	200 M3UB Roadside Pallet	2.5 - 3.1 m 23	27/04/15 to 31/08/15	£ Per m3UB

FO	RE	ST	EN	TEF	RPI	RIS

			LOG DESCRIPT			
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND MEAN SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.43	MORAY, ABERDEENSHIRE	14 cm	200 M3UB Roadside	2.4 - 2.4 m 23	20/04/15 to 31/08/15	£
	Mulderie F29010	SP	Pallet			Per m3UB
2.44	GALLOWAY  Killgallioch F28886	14 cm SS	1000 M3UB Roadside Short Green A	2.5 - 3.1 m 17	20/04/15 to 28/08/15	£ Per m3UB
2.45	WEST ARGYLL  A Bheinn - Salachary F28999	14 cm MS	500 M3UB Roadside Short Green A	2.5 - 3.1 m 24	28/04/15 to 30/09/15	£ Per m3UB

850 M3UB

850 M3UB

Short Green A

1000 Tonnes

Short Green A

Short Green A

**MINIMUM TOP** 

**DIAMETER UB** 

**AND SPECIES** 

14 cm

14 cm

14 cm

SS

SS

SS

£

£

£

Per m3UB

Per m3UB

Per tonne

**AMOUNT OFFERED** 

(EXCLUDING VAT)

FOREST E	FOREST ENTERPRISE					
LOT NO	LOCATION					
2.46	WEST ARGYLL  Laganruere - Knapdale  F29002					
2.47	WEST ARGYLL					
	Strath Nan - Skipness					

2.48

F29004

**GALLOWAY** 

Killgallioch

F28887

All bids must be made via the Forestry Commission's online e-sales system ( www.esales.eforestry.gov.uk ) as detailed in the general conditions of sale at the front of this catalogue. In the event that the Forestry Commission's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

LOG DESCRIPTION

Roadside

Roadside

Roadside

LENGTH

**SPECIFIED** 

2.5 - 3.1 m

2.5 - 3.1 m

2.5 - 3.1 m

**STAND** 

MEAN

DBH (CM)

17

22

17

**COMMENCEMENT AND** 

**COMPLETION DATE** 

20/04/15 to 30/11/15

20/04/15 to 30/11/15

20/04/15 to 28/08/15

**QUANTITY, POINT** 

OF SALE AND

**CLASSIFICATION** 

			LOG DESCRIPT			
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.49	WEST ARGYLL	10 cm	2000 Tonnes Roadside	3.0 - 3.0 m 29	20/04/15 to 31/07/15	£
	Cruinn Ormaig F28898	мс	Chipwood			Per tonne
2.50	MORAY, ABERDEENSHIRE  Mulderie  F29011	7 cm MC	425 Tonnes Roadside Chipwood	3.0 - 3.0 m 23	20/04/15 to 31/08/15	£ Per tonne
2.51	MORAY, ABERDEENSHIRE Hill Of 3 Stones F28928	7 cm SS	300 Tonnes Roadside Pulpwood	3.0 - 3.0 m 23	27/04/15 to 31/08/15	£ Per tonne

**FC Scotland** 

All bids must be made via the Forestry Commission's online e-sales system ( www.esales.eforestry.gov.uk ) as detailed in the general conditions of sale at the front of this catalogue. In the event that the Forestry Commission's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

		1	LOG DESCRIPT	ION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND MEAN DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.52	MORAY, ABERDEENSHIRE	7 cm	1000 Tonnes Roadside	3.0 - 3.0 m 20	25/05/15 to 31/10/15	£
	Suie Hill F28983	SS	Pulpwood			Per tonne
2.53	MORAY, ABERDEENSHIRE  Suie Hill F28984	7 cm SS	1000 Tonnes Roadside Pulpwood	3.0 - 3.0 m 20	25/05/15 to 31/10/15	£ Per tonne
2.54	MORAY, ABERDEENSHIRE  Coreen Hills  F28985	7 cm SS	1000 Tonnes Roadside Pulpwood	3.0 - 3.0 m 20	25/05/15 to 31/10/15	£ Per tonne

			LOG DESCRIP	TION		ĺ
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.55	MORAY, ABERDEENSHIRE	7 cm	350 Tonnes Roadside	3.0 - 3.0 m 20	20/04/15 to 31/08/15	£
	Glen Carvie	SS	Woodfuel			Per tonne
	F28917			This material was felled in D of this lot comprises deadwo	ecember 2013. Approximately % ood.	
2.56	WEST ARGYLL	10 cm	600 Tonnes Roadside	2.8 - 3.0 m 24	28/04/15 to 30/09/15	£
	A Bheinn - Salachary Wf	MS	Woodfuel			Per tonne
	F29001			Approximately 75% of this lo	ot comprises deadwood.	
2.57	MORAY, ABERDEENSHIRE	7 cm	400 Tonnes Roadside	2.5 - 3.7 m 18	20/04/15 to 31/08/15	£
	Beadshalloch	МС	Woodfuel			Per tonne
	F28916			Approx 15% of this lot comp	rises deadwood.	

**FC Scotland** 

All bids must be made via the Forestry Commission's online e-sales system ( www.esales.eforestry.gov.uk ) as detailed in the general conditions of sale at the front of this catalogue. In the event that the Forestry Commission's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

	1		LOG DESCRIPT	ΓΙΟΝ		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.58	MORAY, ABERDEENSHIRE	7 cm	450 Tonnes Roadside	2.5 - 3.7 m 22	20/04/15 to 31/08/15	£
	Hurlie Bog	МС	Woodfuel			Per tonne
	F28919			Approx 15% of this lot comp of this parcel is over 50cm B	rises deadwood and approx. 65% Butt Diameter.	
2.59	MORAY, ABERDEENSHIRE	7 cm	450 Tonnes Roadside	2.5 - 3.7 m 24	20/04/15 to 31/08/15	£
	Mossmaud	MC	Woodfuel			Per tonne
	F28920			Approx 15% of this lot comp of this parcel is over 50cm B	rises deadwood and approx. 65% Butt Diameter.	
2.60	SCOTTISH LOWLANDS	7 cm	850 Tonnes Roadside	3.0 - 3.0 m 22	16/04/15 to 30/09/15	£
	Heathland 72	SS	Woodfuel			Per tonne
	F28856			Approximately 10% of this lo	ot comprises deadwood.	

**FC Scotland** 

All bids must be made via the Forestry Commission's online e-sales system ( www.esales.eforestry.gov.uk ) as detailed in the general conditions of sale at the front of this catalogue. In the event that the Forestry Commission's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.